[ Efficiency vs vertpos |
~0.05

$.045
2
20.04
(&)
$.035
O
£0.03
0.025

U LN LR R AN LA LS LRRRN AR LARRN LELLE RRRA

0.02
0.015F]-

0.018- -4
0.005 :
9 J—-\G 1 111
=
o

1 e e S S S O S O S P O

0.95 . .
1072 10 1

10 0?
TP vertr (cr%)

—=— /data2/legianni/pareto-opt/restart/CMSSW_14_0_5/src/MTV-plot/DQM_TT__original_PU

Efficiend —— /data2/legianni/pareto-opt/train_area_forExtraParams/CMSSW_14_0_5/src/MTV-plot/DQM_TT__originalR

EDO

~n0.02r

T e e ST S S
) r H H H H H
kUL e SR TS

B I . H . n
N AT ST S S SN
‘S : : :
@012_— ------ P } oL

] E : : :
0.008F

0.006f-++-++5--x---fb-
0.004f--+---beeeenns :
0.002

..............

Ratio

30 -20 -10 0 10 20 30
TP vert z (cm)

0.95!

[ Efficiency vs. sim PV z |
~0.05
> N R T

00.045F -+ +fenrrioeees A cTTTTT e e
€ : : : : : :
77y Rt S S A |
T R RIS SR SRS | A
P : : : : : :

U R S St 1 Tl
2 : : : : : :

e I S B |

] : : : : : :
(02 e i bl AL SRR |

0.015 . .....
0.0 , .....
0.005 .....
9 J..UG 11 | 11
IS :
o
| IR AR ARG AR A AR AR AR A0 S
0,950 ] LLLLE : : :
=20 -15 -10 -5 O 5 10 15 20

Sim. PV z (cm)



	Contents
	Page 1


